
MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

SETS

Others

1. in a survey of 500 TV views , it was found that 285 watch cricket , 195

watch football and 115 watch tannis . also , 45 watch both cricket and

football, 70 watch both cricket and tennis and 50 watch football and

tennis . if 50 do not watch any game on tv . then the no. of views watch all

three games is ?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_fsTDTuRIpkJq


2. Of the members of three athletic teams in a certain school, 21 are in
the

basketball team, 26 in hockey team and 29 in the football team. 14 play

hockey and basket ball, 15 play hockey and football,
 12 play football and

basketball and 8 play all the three games bow many
members are there in

all?

Watch Video Solution

3. Prove that : 

Watch Video Solution

A ⊆ B, B ⊆ CandC ⊆ AA = C.

4. Using properties of sets, show that for any two sets   

Watch Video Solution

A and

B, (A ∪ B) ∩ (A ∪ B ′ ) = A.

https://dl.doubtnut.com/l/_LSrS71QMyTsB
https://dl.doubtnut.com/l/_yGByn4xA137H
https://dl.doubtnut.com/l/_qcbtnFfLaunG


5. For any two sets 
 , prove that
 
 (ii) 


 (iii) 
 (iv) 




Watch Video Solution

AandB (A ∪ B) − B = A − B

A = (A ∩ B) = A − B A − (A − B) = A ∩ B

A ∪ (B − A) = A ∪ B (A − B) ∪ (A ∩ B) = A

6. FOR ANY TWO SETS 
 , show that the following statements are

equivalent:
 
(ii) 
(iii) 
(iv) 

Watch Video Solution

AandB

A ⊂ B A − B = φ A ∪ B = B A ∩ B = A.

7. If 
 is the universal set and 


then find:


Watch Video Solution

U = {2, 3, 5, 7, 9}

A = {3, 7}, B = {2, 5, 7, 9}, (A ∪ B) ′

https://dl.doubtnut.com/l/_KbCGE1VR3mYN
https://dl.doubtnut.com/l/_DE1o9ceAYR8s
https://dl.doubtnut.com/l/_ccGHjDQdXOVY


8. If 
 is the universal set and 


then find:
 ,

Watch Video Solution

U = {2, 3, 5, 7, 9}

A = {2, 7}, B = {2, 5, 7}, A' B'

9. Let 
 be two sets. Using properties of sets prove that:
 (i) 

Φ 
(ii) 

Watch Video Solution

AandB

A ∩ B ′ = = A ⊂ B A' ∪ B = U = A ⊂ B

10. If A, B and C are three sets such that 
 and 


, then
(1) 
(2) 
(3) 
(4) 

Watch Video Solution

A ∩ B = A ∩ C

A ∪ B = A ∪ C A = B A = C B = C A ∩ B = φ

11. In a group of 800 people, 550 can speak Hindi and 450 can speak

English. How many can speak both Hindi and English?

https://dl.doubtnut.com/l/_MOmUn5wcHgug
https://dl.doubtnut.com/l/_zppUIJp86T1C
https://dl.doubtnut.com/l/_e6apiPZJuNU7
https://dl.doubtnut.com/l/_KzsKNjQWiy74


Watch Video Solution

12. Let

Find:


Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {2, 4, 6, 8}andB = {2, 3, 5, 7}.

(A ∪ B)'

13. Let

Find:


Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {2, 4, 6, 8}andB = {2, 3, 5, 7}.

(A ∩ B)'

14. The collection of vowels in English alphabets. This set contains five

elements. Namely, 

Watch Video Solution

a,  e,  i,  o,  u.

https://dl.doubtnut.com/l/_KzsKNjQWiy74
https://dl.doubtnut.com/l/_1KklktgMeiAL
https://dl.doubtnut.com/l/_LCHzjXd3JFMG
https://dl.doubtnut.com/l/_EuMqvLJBGUPs


15. The collection of first five prime natural numbers is   asset containing

the elements 2, 3, 5, 7,
11.

Watch Video Solution

16. The collection of all States in the Indian Union is a set.

Watch Video Solution

17. The collection of post presidents of the Indian union is a set.

Watch Video Solution

18. The collection of cricketers in the world who were out for 99 runs in a

test match is a set.

Watch Video Solution

https://dl.doubtnut.com/l/_Kba41ifc05Vm
https://dl.doubtnut.com/l/_K6sBJWOzND9L
https://dl.doubtnut.com/l/_9RxeSg2qV6he
https://dl.doubtnut.com/l/_5u9g1Pl6uaRB
https://dl.doubtnut.com/l/_OHb3ji3kyKfb


19. What is the difference between a collection and a set? Give reasons to

support your answer?

Watch Video Solution

20. Which of the following collections are sets? Justify your answer:
 A

collection of all natural numbers less than 50.

Watch Video Solution

21. Which of the following collections are sets? Justify your answer:
 The

collection of good hockey players in India.

Watch Video Solution

22. Which of the following collections are sets? Justify your answer:
 The

collection of all girls in your class.

W h Vid S l i

https://dl.doubtnut.com/l/_OHb3ji3kyKfb
https://dl.doubtnut.com/l/_eUOwLCfvL9Xf
https://dl.doubtnut.com/l/_G76ZuMxDIj4Z
https://dl.doubtnut.com/l/_aQJue2vrSYP9


Watch Video Solution

23. Which of the following collections are sets? Justify your answer:
 The

collection most talented writers of India.

Watch Video Solution

24. Which of the following collections are sets? Justify your answer:
 The

collection of difficult topics in Mathematics.

Watch Video Solution

25. The collection of all months of a year beginning with the letter J.

Watch Video Solution

26. Is the collection of novels written by Munshi a set?

Watch Video Solution

https://dl.doubtnut.com/l/_aQJue2vrSYP9
https://dl.doubtnut.com/l/_R7XuOhkdBBjm
https://dl.doubtnut.com/l/_ui1avQ2nhjvV
https://dl.doubtnut.com/l/_qxCRCKkSHQy8
https://dl.doubtnut.com/l/_sahet777MDKX


Watch Video Solution

27. Which of the following collections are sets? Justify your answer:
 A

collection of most dangerous animals of the world.

Watch Video Solution

28. Which of the following collections are sets? Justify your answer:
 The

collection  of prime
integers.

Watch Video Solution

29. If 
 , then insert the appropriate

symbol 
 in each of the following blank spaces:
 4...A ii. 12...A

-4...A iv. 9...A
0...A vi. -2...A

Watch Video Solution

A = {0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

∈ or   ∉

https://dl.doubtnut.com/l/_sahet777MDKX
https://dl.doubtnut.com/l/_jmXq3D06fXAU
https://dl.doubtnut.com/l/_uZ4E2WhoM32D
https://dl.doubtnut.com/l/_mlB5BXXAdQUg


30. Describe the following wets in Roster form:
 The set off all letters in

the word 

Watch Video Solution

'MATHEMATICS'

31. Describe the following wets in Roster form:
The set off all letters in the

word 

Watch Video Solution

'ALGEBRA'

32. Describe the following sets in Roster form:
The set of all vowels in the

word 

Watch Video Solution

'EQUATION'

33. Describe the following sets in Roster form:
 The set of squares of

integers.

https://dl.doubtnut.com/l/_l26TvWkikfIT
https://dl.doubtnut.com/l/_dNmKFXhdRNrB
https://dl.doubtnut.com/l/_GFmIIfYGUljo
https://dl.doubtnut.com/l/_sWl6ULdGtd05


Watch Video Solution

34. Describe the following sets in Roster form:
 The set of all natural

numbers less than 7 ?

Watch Video Solution

35. Write the set 
 in the set builder

form.

Watch Video Solution

{ , , , , , , , , }
1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

36. Describe the following sets in Roster form:
 
is a letter before 
 in

the English alphabet 
.

Watch Video Solution

{x : x e

}

https://dl.doubtnut.com/l/_sWl6ULdGtd05
https://dl.doubtnut.com/l/_veCC1BEofqxo
https://dl.doubtnut.com/l/_oggyLT1KZEny
https://dl.doubtnut.com/l/_RhcDvOAi5P3p


37. Describe the following sets in Roster form: 

Watch Video Solution

{x ∈ n : x2 < 25}

38. Describe the following sets in Roster form:{x in N : x is a prime

number,10 x 20}

Watch Video Solution

< <

39. Describe the following sets in Roster form: 

Watch Video Solution

{x ∈ N : x = 2n, n ∈ N}

40. Describe the following sets in Roster form: 

Watch Video Solution

{x ∈ R : x > x}.

https://dl.doubtnut.com/l/_Oy2dmhXqWP3d
https://dl.doubtnut.com/l/_S8Oesi8vtLze
https://dl.doubtnut.com/l/_QtmBqxJCUTPI
https://dl.doubtnut.com/l/_iaPmL9gGgVsw


41. Describe the following sets in Roster form:
 
 is a prime number

which is a divisor of 60

Watch Video Solution

{x : x

}.

42. Describe the following sets in Roster form:
 
 is a two digit

number such that the sum of digits is 8 
.

Watch Video Solution

{x : x

}

43. Describe the following sets in Roster form:
The set of all letters in the

word ‘Better’.

Watch Video Solution

44. Describe the following set in set builder form: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6}

https://dl.doubtnut.com/l/_bQMsDihIfvH8
https://dl.doubtnut.com/l/_7OH6xRacWSWN
https://dl.doubtnut.com/l/_sXJ9lXcBNb1q
https://dl.doubtnut.com/l/_OivPDxDKEXZZ


45. Describe the following set in set builder form: {
1,1/2,1/3,1/4,1/4,..

Watch Video Solution

B = }

46. Describe the following set in set builder form: 

Watch Video Solution

C = {0, 3, 6, 9, 12}

47. Describe the following set in set builder form:

Watch Video Solution

D = {10, 11, 12, 13, 14, 15}

48. Describe the following set in set builder form: 

Watch Video Solution

E = {0}

https://dl.doubtnut.com/l/_OivPDxDKEXZZ
https://dl.doubtnut.com/l/_urUvfMm71dFj
https://dl.doubtnut.com/l/_GZYRpcx5LKJr
https://dl.doubtnut.com/l/_cMQnMhnMjWMG
https://dl.doubtnut.com/l/_nU8gcaxUiLE9
https://dl.doubtnut.com/l/_nMy4axjpVLT8


49. Describe the following set in set builder form:

Watch Video Solution

{1, 4, 9, 16, ........., 100}

50. Describe the following set in set builder form: 

Watch Video Solution

{2, 4, 6, 8, ......}

51. Describe the following set in set builder form: 

Watch Video Solution

{5, 25, 125, 625}

52. Find the pairs of equal sets from the following sets, if any, giving

reasons: 


 is an integral positive root of the equation 


.

A = {0},  B = {x : x > 15 and x < 5},  C = {x : x − 5 = 0},  D = {x : x2

E = {x : x

x2 − 2x − 15 = 0}

https://dl.doubtnut.com/l/_nMy4axjpVLT8
https://dl.doubtnut.com/l/_pOCJI2fX8F1B
https://dl.doubtnut.com/l/_HetBQooFrsoB
https://dl.doubtnut.com/l/_5KsSiJyoh8kO


Watch Video Solution

53. Which of the following are examples of empty set?
 Set of all even

natural numbers divisible by 5.

Watch Video Solution

54. Which of the following are examples of empty set?
 Set of all even

prime numbers.

Watch Video Solution

55. Which of the following are examples of empty set?


is rational

Watch Video Solution

{x : x2 − 2 = 0 and x }

https://dl.doubtnut.com/l/_5KsSiJyoh8kO
https://dl.doubtnut.com/l/_X8CCw8ntdqMj
https://dl.doubtnut.com/l/_aXBJayS8ddFg
https://dl.doubtnut.com/l/_g9D3P1kFUHfc


56. Which of the following are examples of empty set?
 
 is a natural

number, 
and simultaneously 

Watch Video Solution

{x : x

x < 8 x > 12}

57. Which of the following are examples of empty set?
 
 is a point

common to any two parallel lines 
.

Watch Video Solution

{x : x

}

58. Are the following sets equal?
 
is a letter in the word reap 
 , 


 is as letter in the word paper 
 
 is a letter in the

word rope 
.

Watch Video Solution

A = {x : x }

B = {x : x } C = {x : x

}

https://dl.doubtnut.com/l/_7CiGd3EZi91u
https://dl.doubtnut.com/l/_2cXAJj2veoHH
https://dl.doubtnut.com/l/_WBi4Lk6t6Sgx


59. Are the following pairs of sets equal? Give reason.


is a solution of 

Watch Video Solution

A = {1, 2, 3},  B{x; x x2 + 5x + 6 = 0}

60. Are the following pairs of sets equal? Give reason.
 
 is a

letter of the word WOLF 
 
 is a letter of the word 

Watch Video Solution

A = {x : x

} B = {x : x

F O L L O W}

61. Which o the following sets are equal?

Watch Video Solution

A = {x : x ∈ N,  x < 3},  B = {1, 2},  C = {3, 11}

D = {x : x ∈ N,  ξs odd,  x < 5},  E = {1, 2, 1, 1},  F = {1, 1, 3}

https://dl.doubtnut.com/l/_PFBMZWuWg1Ij
https://dl.doubtnut.com/l/_TA0iT5AfzjYG
https://dl.doubtnut.com/l/_b37h6IPzi775


62. Show that the set of letters needed to spell “CATARACT” and the set of

letters needed spell “TRACT” are equal.

Watch Video Solution

63. When we study two dimensional coordinate geometry, then the set of

all
points in xy-plane is the universal set.

Watch Video Solution

64. If A={1,2,3} B={2,4,5,6} a n d C ={1,3,5,7}, t h e n U={1,2,3,4,5,6,7}`
 can be

taken as the universal set.

Watch Video Solution

65. When we are using sets containing natural numbers, then N is the

universal set.

https://dl.doubtnut.com/l/_HmULSPqaPcHD
https://dl.doubtnut.com/l/_W4JEAPMQX8Gk
https://dl.doubtnut.com/l/_aOn2IMG1KFqu
https://dl.doubtnut.com/l/_VzTkVK1vBhoa


Watch Video Solution

66. Let 
 Then the subsets of A are: 

Find Power set of A.

Watch Video Solution

A = {1, 2, 3}.

φ,  {1}, {2}, {3}, {1, 2}, {1, 3, }, {2, 3}and {1, 2, 3}.

67. If 
is the void set 
then =
.

Watch Video Solution

A φ P (A)

68. An investigator interviewed 100 students to determine the

performance of three drinks: that 10 students take all three drinks milk,

milk, coffee and tea. The investigator reported coffee and tea; 20

students take milk and coffee: 25 students take milk and tea; 20 students

take coffee and tea; 12 students take milk only; 5 students take coffee

only and 8 students take tea only. then the number of students who did

not take any of three drinks is

https://dl.doubtnut.com/l/_VzTkVK1vBhoa
https://dl.doubtnut.com/l/_3NgewnKyyjwT
https://dl.doubtnut.com/l/_DrxWwU6bvys7
https://dl.doubtnut.com/l/_j2cCv7YY2Xmh


Watch Video Solution

69. Show that 

Watch Video Solution

n{P{P (P (φ))}} = 4.

70. Let 

Watch Video Solution

A = {a,  {b}}, findP (A).

71. Consider the following sets


 . Insert the correct

symbol 
between each of the following pair of sets: 

Watch Video Solution

φ,  A = {1, 2}, B = {1, 4, 8}, C = {1, 2, 4, 6, 8}

⊂ and φ...B

https://dl.doubtnut.com/l/_j2cCv7YY2Xmh
https://dl.doubtnut.com/l/_FfCQnOFgQKSO
https://dl.doubtnut.com/l/_akhJlbwMKuuM
https://dl.doubtnut.com/l/_5YxlgNmdJWIH


72. Consider the following sets


 . Insert the correct

symbol 
between each of the following pair of sets: 

Watch Video Solution

φ,  A = {1, 2}, B = {1, 4, 8}, C = {1, 2, 4, 6, 8}

⊂ and A...B

73. Consider the following sets


 . Insert the correct

symbol 
between each of the following pair of sets: 

Watch Video Solution

φ,  A = {1, 2}, B = {1, 4, 8}, C = {1, 2, 4, 6, 8}

⊂ and A...C

74. Consider the following sets A={1,2}, B={1,4,8}, C={1,2,4,6,8} . Insert the

correct symbol of subset
 between each of the following pair of sets:

Watch Video Solution

B...C

https://dl.doubtnut.com/l/_k9DUHuJF9shl
https://dl.doubtnut.com/l/_P6IiwPeB0GL8
https://dl.doubtnut.com/l/_YNRwe6iGVdZu
https://dl.doubtnut.com/l/_Zj8VgxPvfqB0


75. Let 
 . Find all sets 

such that: 

Watch Video Solution

A = {a, b, c, d},  B = {a, b, c}and C = {b, d} X

X ⊂ B and X ⊂ C.

76. Let 
 . Find all sets 

such that: 

Watch Video Solution

A = {a, b, c, d},  B = {a, b, c}and C = {b, d} X

X ⊂ A and X ⊂ B.

77. In each of the following determine whether the statement is true or

false. If it is true prove it . if it is false, give an example: If

Watch Video Solution

x ∈ A and A ∈ B,  then x ∈ B.

78. In each of the following determine whether the statement is true or

false. If it is true prove it . if it is false, give an example: If

https://dl.doubtnut.com/l/_Zj8VgxPvfqB0
https://dl.doubtnut.com/l/_5EesAgnP46bx
https://dl.doubtnut.com/l/_ugvh5dpqQmkq
https://dl.doubtnut.com/l/_ddgECQ4XoF4j


Watch Video Solution

A ⊂ B and B ⊂ C,  then A ⊂ C.

79. In each of the following determine whether the statement is true or

false. If it is true prove it . if it is false, give an example: If x∈A and A∈B,

then x∈B

Watch Video Solution

80. In each of the following determine whether the statement is true or

false. If it is true prove it . if it is false, give an example: If

Watch Video Solution

A ⊂ B and B ∈ C,  then A ∈ C.

81. In each of the following determine whether the statement is true or

false. If it is true prove it . if it is false, give an example: If

https://dl.doubtnut.com/l/_ddgECQ4XoF4j
https://dl.doubtnut.com/l/_P2gLBsQKwXQG
https://dl.doubtnut.com/l/_BhpftNy4qx0U
https://dl.doubtnut.com/l/_SpcsFqKfBqJP


Watch Video Solution

A ⊄ B and B ⊄ C,  then A ⊄ C.

82. In each of the following determine whether the statement is true or

false. If it is true prove it . if it is false, give an example: If

Watch Video Solution

A ⊂ B and x ∉ B,  then x ∉ A.

83. Write the following subsets of 
 as interval:{x : x in R: x is less than

and equal to 6 and also greater than -4

A. 

B. null

C. null

D. null

R

https://dl.doubtnut.com/l/_SpcsFqKfBqJP
https://dl.doubtnut.com/l/_dNZCFoNT4Q97
https://dl.doubtnut.com/l/_ccrkqM1aRbYp


Answer: null

Watch Video Solution

84. Write the following subsets of 
as interval:{x : x in R -12

Watch Video Solution

R

85. Write the following subsets of 
as interval: 

Watch Video Solution

R {x : x ∈ R,  0 ≤ x < 7}

86. Write the following subsets of 
as interval: 

Watch Video Solution

R {x : x ∈ R,  3 ≤ x ≤ 4}

87. Write the following interval in the set builder form: ( − 7, 0)

https://dl.doubtnut.com/l/_ccrkqM1aRbYp
https://dl.doubtnut.com/l/_VQsqFZVmNazh
https://dl.doubtnut.com/l/_vFGy0g8QKeQ6
https://dl.doubtnut.com/l/_UudVRjoPvuYa
https://dl.doubtnut.com/l/_5b2uq4cR1IVT


Watch Video Solution

88. Write the following interval in the set builder form: 

Watch Video Solution

[6, 12]

89. Write the following interval in the set builder form: 

Watch Video Solution

(6, 12]

90. Write the following interval in the set builder form: 

Watch Video Solution

[ − 20, 3)

91. Which of the following statements are true? Give reason to support

your
answer. For any two sets A and B either 

Watch Video Solution

A ⊆ B  or  B ⊆ A.

https://dl.doubtnut.com/l/_5b2uq4cR1IVT
https://dl.doubtnut.com/l/_dWLDyInPJQoE
https://dl.doubtnut.com/l/_3Ta0rU9yWcEO
https://dl.doubtnut.com/l/_3jIiFJEiaUN8
https://dl.doubtnut.com/l/_5rmTkpaX5kvN


92. Is the following statement true? Give reason to support your
answer.

Every subset of an infinite set in infinite.

Watch Video Solution

93. Which of the following statements are true? Give reason to support

your
answer. Every subset of a finite set is finite.

Watch Video Solution

94. Which of the following statements are true? Give reason to support

your
answer. Every set has a proper subset.

Watch Video Solution

95. Which of the following statements are true? Give reason to support

your
answer. 
is an infinite set.{a, b, a, b, a, b.}

https://dl.doubtnut.com/l/_5rmTkpaX5kvN
https://dl.doubtnut.com/l/_bcjypU6SNfhp
https://dl.doubtnut.com/l/_2l09h1Qoar9m
https://dl.doubtnut.com/l/_DWJskgsXgJoH
https://dl.doubtnut.com/l/_KkyrkgAefCFz


Watch Video Solution

96. Which of the following statements are true? Give reason to support

your
answer. 
and 
are equivalent sets.

Watch Video Solution

{a, b, c} {1, 2, 3}

97. Which of the following statements are true? Give reason to support

your
answer. A set can have infinitely many subsets.

Watch Video Solution

98. State whether the following statements are true or false: 

,
 ,
 ,
 ,
 The set 


is the null set.

Watch Video Solution

1 ∈ {1, 2, 3}

a ⊂ {b, c, a} {a} ∈ {a, b, c} {a, b} = {a, a, b, b, a}

{x : x + 8 = 8}

https://dl.doubtnut.com/l/_KkyrkgAefCFz
https://dl.doubtnut.com/l/_CUXT01tvsXuN
https://dl.doubtnut.com/l/_X7qzC7LBFzIa
https://dl.doubtnut.com/l/_RFGZAWEsyoMi
https://dl.doubtnut.com/l/_lOAzmPzZYp8y


99. Decide among the following sets, which are subsets of which:


 satisfies 

Watch Video Solution

A = {x : x

x2 − 8x + 12 = 0},  B = {2, 4, 6},  C = {2, 4, 6, 8},  D = {6}.

100. Write which of the following statements are true? Justify your

answer:
The set of all crows in contained in the set of all birds.

Watch Video Solution

101. Write which of the following statements are true? Justify your

answer:
The set of all rectangles is contained in the set of all squares.

Watch Video Solution

102. Write which of the following statements are true? Justify your

answer:
The set of all rectangles is contained in the set of all squares.

https://dl.doubtnut.com/l/_lOAzmPzZYp8y
https://dl.doubtnut.com/l/_HAKicKb9YUO8
https://dl.doubtnut.com/l/_dVtJCEhlTwKl
https://dl.doubtnut.com/l/_cKbDOTWfzHhg


Watch Video Solution

103. Write which of the following statements are true? Justify your

answer:
The set of all real numbers is contained in the set of all complex

numbers.

Watch Video Solution

104. Write which of the following statements are true? Justify your

answer:
The sets 
are equal.

Watch Video Solution

P = {a}and B = {{a}}

105. Write which of the following statements are true? Justify your

answer:
 The sets 
 is a letter of the word LITTLE 
 and 


is a letter of the word TITLE 
are equal.

Watch Video Solution

A = {x : x }

B = {x : x }

https://dl.doubtnut.com/l/_cKbDOTWfzHhg
https://dl.doubtnut.com/l/_rCcDYu882aAx
https://dl.doubtnut.com/l/_y0lMIpGrguAM
https://dl.doubtnut.com/l/_KRpCOfZtLSJK


106. Which of the following statements are correct? Write a correct form

of
 each of the incorrect statements.
 (i) 
 (ii) 

(iii) 

Watch Video Solution

a ⊂ {a, b, c} {a} ∈ {a, b, c}

a ∈ {{a}, b}

107. Which of the following statements are correct? Write a correct form

of
 each of the incorrect statements.
 (i) 
 (ii) 


(iii) 

Watch Video Solution

{a} ⊂ {{a}, b}

{b, c} ⊂ {a, {b, c}} {a, b} ⊂ {b, c}

108. Which of the following statements are correct? Write a correct form

of
 each of the incorrect statements.
 (i) 
 (ii) 
 (iii) 

Watch Video Solution

φ ∈ {a, b} φ ⊂ {a, b, c}

{x : x + 3 = 3} = φ

https://dl.doubtnut.com/l/_KRpCOfZtLSJK
https://dl.doubtnut.com/l/_JNvzRSihmBfI
https://dl.doubtnut.com/l/_7OmSTg5IMdvZ
https://dl.doubtnut.com/l/_uInIRQXKs9mM
https://dl.doubtnut.com/l/_jFz7sN7ji1Fp


109. Let 
 . Which of the following statements are

false and why?
(i) 
(ii) 
(iii) 

Watch Video Solution

A = {a, b, {c, d},  e}

{c, d} ⊂ A {c, d} ∈ A {{c, d}} ⊂ A

110. Let 
 . Which of the following statements are

false and why?
(i) 
(ii) 
(iii) 

Watch Video Solution

A = {a, b, {c, d},  e}

a ∈ A a ⊂ A {a, b, e} ⊂ A

111. Let 
 . Which of the following statements are

false and why?
(i) 
(ii) 
(iii) 
(iv) 

Watch Video Solution

A = {a, b, {c, d},  e}

{a, b, e} ∈ A {a, b, c} ⊂ A φ ∈ A {φ} ⊂ A

112. Let 
 Determine which of the

following is true or false:
(i) 
(ii) 
(iii) 

A = {{1, 2, 3},  {4, 5},  {6, 7, 8}}.

1 ∈ A {1, 2, 3} ⊂ A {6, 7, 8} ∈ A

https://dl.doubtnut.com/l/_jFz7sN7ji1Fp
https://dl.doubtnut.com/l/_mYeIqJVQfsQJ
https://dl.doubtnut.com/l/_T637qNq6KTMC
https://dl.doubtnut.com/l/_7UdKo4Iekb7x


Watch Video Solution

113. Let 
 Determine which of the

following is true or false:
(i) 
(ii) 
(iii) 

Watch Video Solution

A = {{1, 2, 3},  {4, 5},  {6, 7, 8}}.

{{4, 5}} ⊂ A φ ∈ A φ ⊂ A

114. Let 
 Which of the following are true? i.


ii. 
iii. 

Watch Video Solution

A = {φ, {φ}, 1, {1, φ}, 2}.

φ ∈ A 2 ⊂ A {2, {1}} ⊂ A

115. Let 
 Which of the following are true?
 (i) 


(ii) 

Watch Video Solution

A = {φ{φ}, 1, {1, φ}, 2}.

{{2}, {1}}A {φ, {φ}, {1, φ}} ⊂ A

https://dl.doubtnut.com/l/_7UdKo4Iekb7x
https://dl.doubtnut.com/l/_1NU4KNxCbpWs
https://dl.doubtnut.com/l/_PmPTpVHw1uBL
https://dl.doubtnut.com/l/_gnIJhaUVkEJK


116. Let 
 Which of the following are true?
 i.


ii. 
iii. 

Watch Video Solution

A = {φ, {φ}, 1, {1, φ}, 2}.

{1} ⊂ A {{φ}} ⊂ A {2, φ} ⊂ A

117. Write down all possible subset of each of the following set: 

Watch Video Solution

{0, 1}

118. Write down all possible subset of each of the following set: 

Watch Video Solution

{1, {1}}

119. Write down all possible subset of each of the following set: 

Watch Video Solution

{φ}

https://dl.doubtnut.com/l/_W8JXKJ9vY67A
https://dl.doubtnut.com/l/_mPdYJaLHXPMD
https://dl.doubtnut.com/l/_PwFKgeyPgWC9
https://dl.doubtnut.com/l/_0rjUWayUbzga


120. Write down all possible subset of each of the following set: 

Watch Video Solution

{a, b, c}

121. Write down all possible proper subsets each of the following set:

Watch Video Solution

{1, 2}

122. Write down all possible proper subsets each of the following set:

Watch Video Solution

{1, 2, 3}

123. Write down all possible proper subsets each of the following set: 

Watch Video Solution

{1}

https://dl.doubtnut.com/l/_Gdz70RrJHjiV
https://dl.doubtnut.com/l/_uf42Zaw8QxSf
https://dl.doubtnut.com/l/_ScMAfF61GzcY
https://dl.doubtnut.com/l/_zvX02GF7tr52
https://dl.doubtnut.com/l/_pzbkKLtkeUiC


124. How many elements has 

Watch Video Solution

(A),   if  A = φ?

125. If 
.

Watch Video Solution

A = {1, 2, 3}and B = {1, 3, 5, 7},  then A ∪ B = {1, 2, 3, 5, 7}

126. If 
 ,

then 
 is an odd integer 
 is an even integer


is an integer

Watch Video Solution

A = {x : x = 2n + 1,  n ∈ Z} and B = {x : x = 2n,  n ∈ Z}

A ∪ B = {x : x }  ∪ {x : x

} = {x : x } = Z.

127. Let 
 . Then 

Watch Video Solution

A = {1, 2, 3},  B = {5, 6},  C = {4, 7, 8}

A ∪ B ∪ C = {1, 2, 3, 4, 5, 6, 7, 8}

https://dl.doubtnut.com/l/_pzbkKLtkeUiC
https://dl.doubtnut.com/l/_ftymE03OimS4
https://dl.doubtnut.com/l/_M2ihFKLYxVhj
https://dl.doubtnut.com/l/_l29qsop2v9Sb


128. If 
then 

Watch Video Solution

A = {1, 2, 3, 4, 5}and B = {1, 3, 9, 12} A ∩ B = {1, 3}.

129. If

Watch Video Solution

A = {1, 2, 3, 4, 5, 6, 7, 8} and B = {1, 3, 5, 6, 7, 8, 9},  then A − B = {2, 4

130. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

A ∪ C

131. If

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

https://dl.doubtnut.com/l/_l29qsop2v9Sb
https://dl.doubtnut.com/l/_BGl6GBqSKYqb
https://dl.doubtnut.com/l/_K5HRhQDazUkQ
https://dl.doubtnut.com/l/_8Peqo9eMcpTA
https://dl.doubtnut.com/l/_KH4Ryr79TVOR


. Find: 

Watch Video Solution

B ∪ C

132. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

B ∪ D

133. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

B ∪ C ∪ D

134. If

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

https://dl.doubtnut.com/l/_KH4Ryr79TVOR
https://dl.doubtnut.com/l/_vySF9fPcx4fd
https://dl.doubtnut.com/l/_QM69j7o0cnap
https://dl.doubtnut.com/l/_qKcxre0LENui


. Find: 

Watch Video Solution

A ∪ B ∪ C

135. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

A ∪ B ∪ D

136. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

A ∩ (B ∪ C)

137. If

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

https://dl.doubtnut.com/l/_qKcxre0LENui
https://dl.doubtnut.com/l/_urqvBsW0kOgA
https://dl.doubtnut.com/l/_ceqYzxYvZofl
https://dl.doubtnut.com/l/_ylvDzdrOJ5Jy


. Find: 

Watch Video Solution

(A ∩ B) ∩ {B ∩ C}

138. Let

is a prime natural number 
. Find: 

Watch Video Solution

A = {x : x ∈ N},  B = {x; x = 2n,  n ∈ N},  C = {x : x = 2n − 1, n ∈ N}

} A ∩ B

139. Let

is a prime natural number 
. Find: 

Watch Video Solution

A = {x : x ∈ N},  B = {x; x2n,  n ∈ N},  C = {x : x = 2n − 1, n ∈ N}an

} A ∩ C

140. Let 
is

a prime natural number 
. Find: .

A = {x : x ∈ N},  B = {x; x = 2n,  n ∈ N},  and, D = {x : x

} A ∩ D

https://dl.doubtnut.com/l/_ylvDzdrOJ5Jy
https://dl.doubtnut.com/l/_R4IiAbLFZNvN
https://dl.doubtnut.com/l/_KDVVo0RlFfHx
https://dl.doubtnut.com/l/_lBoXF5nmI5f5


Watch Video Solution

141. Let

is a prime natural number 
. Find: 

Watch Video Solution

A = {x : x ∈ N},  B = {x; x = 2n,  n ∈ N},  C = {x : x = 2n − 1, n ∈ N}

} B ∩ C

142. Let

is a prime natural number 
. Find: 

Watch Video Solution

A = {x : x ∈ N},  B = {x; x = 2n,  n ∈ N},  C = {x : x = 2n − 1, n ∈ N}

} B ∩ D

143. Let

is a prime natural number 
. Find: 

Watch Video Solution

A = {x : x ∈ N},  B = {x; x = 2n,  n ∈ N},  C = {x : x = 2n − 1, n ∈ N}

} C ∩ D

https://dl.doubtnut.com/l/_lBoXF5nmI5f5
https://dl.doubtnut.com/l/_iXun3e45J4K9
https://dl.doubtnut.com/l/_3JNCCJrRPZRl
https://dl.doubtnut.com/l/_d0Agl3Ya070W


Watch Video Solution

144. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

A − B

145. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

A − C

146. Let

. Find:

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

A − D

https://dl.doubtnut.com/l/_d0Agl3Ya070W
https://dl.doubtnut.com/l/_bE7KXENUSTjz
https://dl.doubtnut.com/l/_WCBPn4Soj9mS
https://dl.doubtnut.com/l/_DHKuQd1GkMZh


147. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

B − A

148. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

B − C

149. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

B − D

https://dl.doubtnut.com/l/_DHKuQd1GkMZh
https://dl.doubtnut.com/l/_VCXkA5yziiYZ
https://dl.doubtnut.com/l/_RBeQXt051WzQ
https://dl.doubtnut.com/l/_Osev4OVLW1gu


150. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

 C − A

151. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

D − A

152. A class has 175 students. The following data shows the number of

students obtaining one or more subjects. Mathematics 100, Physics 70,

Chemistry 40, Mathematics and Physics 30, Mathematics and Chemistry

28, Physics and Chemistry 23, Mathematics, Physics and Chemistry 18. How

many students have offered Mathematics alone (a) 35 (c) 60 (b) 48 (d) 22

Watch Video Solution

https://dl.doubtnut.com/l/_M3ZdaG5hcgmT
https://dl.doubtnut.com/l/_DTlIAl94kTIR
https://dl.doubtnut.com/l/_q5c9PltyuwOz


Watch Video Solution

153. Two finite sets A and B have m and n element respectively. If the total

number of subsets of A is 112more than the total number of subsets of B,

then the value of m is

Watch Video Solution

154. For any two sets A and B, 
 is equal to
a. 
b. 
c. 
d. 

Watch Video Solution

A ∩ (A ∪ B' ) A B φ

A ∩ B

155. The set  is equal to

Watch Video Solution

(A ∪ B' )' ∪ (B ∩ C)

156. If 
such that 
. Describe the set a ∈ N aN = {ax : x ∈ N} 3N ∩ 7N.

https://dl.doubtnut.com/l/_q5c9PltyuwOz
https://dl.doubtnut.com/l/_N3ej3RulmnLd
https://dl.doubtnut.com/l/_HuuX35cUuqvD
https://dl.doubtnut.com/l/_2PNJ8aW4sXzi
https://dl.doubtnut.com/l/_C97UTvzLrA7V


Watch Video Solution

157. For any natural number a,we define aN={ax:x in N}. If b,c,d in N such

that bN uu cN=dN, then prove that d = bc

Watch Video Solution

158. Find the smallest set 
such that 

Watch Video Solution

A A ∪ {1, 2} = {1, 2, 3, 5, 9}.

159. Let 
 . Verify the

following identities: 

Watch Video Solution

A = {1, 2, 4, 5} B = {2, 3, 5, 6}C = {4, 5, 6, 7}

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

https://dl.doubtnut.com/l/_C97UTvzLrA7V
https://dl.doubtnut.com/l/_mTFpEuftL36Y
https://dl.doubtnut.com/l/_mAfbXhkKy5BD
https://dl.doubtnut.com/l/_UQCW6WdmEKjA


160. Let 
 . Verify the

following identities: 

Watch Video Solution

A = {1, 2, 4, 5} B = {2, 3, 5, 6}C = {4, 5, 6, 7}

A ∩ (B − C) = (A ∩ B) − (A ∩ C)

161. Let 
 . Verify the

following identities: 

Watch Video Solution

A = {1, 2, 4, 5} B = {2, 3, 5, 6}C = {4, 5, 6, 7}

A − (B ∩ C) = (A − B) ∪ (A − C)

162. Let 
 . Verify the

following identities: 

Watch Video Solution

A = {1, 2, 4, 5} B = {2, 3, 5, 6}C = {4, 5, 6, 7}

A − (B ∪ C) = (A − B) ∩ (A − C)

163. Let 
 . Verify the

following identities: 

A = {1, 2, 4, 5} B = {2, 3, 5, 6}C = {4, 5, 6, 7}

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C)

https://dl.doubtnut.com/l/_lDReQwxUkQKb
https://dl.doubtnut.com/l/_IpfdvUkUA6hC
https://dl.doubtnut.com/l/_XTsDrj4VpAhz
https://dl.doubtnut.com/l/_DVejkTVeQ8zO


Watch Video Solution

164. For any two sets 
prove that 

Watch Video Solution

A and B, B ⊂ A ∪ B

165. For any two sets 
prove that 

Watch Video Solution

A and B, A ∩ B ⊂ A

166. For any two sets 
prove that 

Watch Video Solution

A and B, A ⊂ B ⇒ A ∩ B = A

167. Show that  need not imply 

Watch Video Solution

A ∩ B = A ∩ C B = C

https://dl.doubtnut.com/l/_DVejkTVeQ8zO
https://dl.doubtnut.com/l/_7FiDG0GSbydT
https://dl.doubtnut.com/l/_eUclKuQZDVrp
https://dl.doubtnut.com/l/_kz4rI2vrYlpZ
https://dl.doubtnut.com/l/_u2L9idOKmBFz
https://dl.doubtnut.com/l/_20cXxdL1MAT7


168. Show that if 
, then  .

Watch Video Solution

A ⊂ B C  −  B ⊂ C  −  A

169. Prove that 

Watch Video Solution

A ∪ (A ∩ B) = A

170. For any two sets, prove that:

Watch Video Solution

 A ∩ (A ∪ B) = A

171. Find sets A, B and C such that 
 , 
 and 
 are

nonempty sets and 
.

Watch Video Solution

A ∩ B B ∩ C A ∩ C

A ∩ B ∩ C = φ

https://dl.doubtnut.com/l/_20cXxdL1MAT7
https://dl.doubtnut.com/l/_WtNbdeKUXvkK
https://dl.doubtnut.com/l/_rZVMd9w9TKQy
https://dl.doubtnut.com/l/_aDVPIVi82UkK


172. For any two sets 
prove that 

Watch Video Solution

A and B, A ∩ B = φ ⇒ A ⊆ B ′ .

173. For any two sets of A and B, prove that: 

Watch Video Solution

A ′ ∪ B = U ⇒ A ⊂ B

174. For any two sets of A and B, prove that: 

Watch Video Solution

B ′ ∪ A' ⇒ A ⊂ B

https://dl.doubtnut.com/l/_Wyi3XyicykHp
https://dl.doubtnut.com/l/_eooAnwRIP9al
https://dl.doubtnut.com/l/_dQiGjkCk3oy3


175.  


Two identical blocks A and B, each of mass , are connected with

the help of an ideal spring and placed on a smooth horizontal surface as

shown in Fig. Another identical blocks C moving velocity 

collides with A and sticks to it, as a result, the motion of system takes

place in some way 

Based on this information answer the following questions: 

Q. After the collision of C and A, the combined body and block B would 

Option1

oscillate about centre of mass of system and centre of mass is at rest. 

Option2

oscillate about centre of mass of system and centre of mass is moving. 

Option3

m = 3kg

v0 = 0.6
m

s

https://dl.doubtnut.com/l/_s89w9HfYlMZN


oscillate but about different location other than the centre of mass. 

Option4

not oscillate.

Watch Video Solution

176. If A and B are any two sets, then prove that 

Watch Video Solution

(A ∩ B) ∪ (A − B) = A

177. Show that for any sets  and ;
  and

Watch Video Solution

A B A = (A ∩ B) ∪ (A − B)

A ∪ (B − A) = (A ∪ B)

178. For any two sets A and B prove the following:

Watch Video Solution

A ∩ (A ′ ∪ B) = A ∩ B

https://dl.doubtnut.com/l/_s89w9HfYlMZN
https://dl.doubtnut.com/l/_gw76R5ymrzbX
https://dl.doubtnut.com/l/_lVNedu6Bqhbl
https://dl.doubtnut.com/l/_tN6tswRBbLe9


179. For any two sets A and B prove the following:

Watch Video Solution

A − (A − B) = A ∩ B

180. For any two sets A and B prove the following: 

Watch Video Solution

A ∩ (A   ∪ B)' = φ

181. For any two sets A and B prove the following: 

Watch Video Solution

A − B = AΔ(A ∩ B).

182. In a class of 35 students, 24 like to play
 cricket and 16 like to play

football. Also, each student likes to play at
 least one of the two games.

How many students like to play both cricket and
football?

https://dl.doubtnut.com/l/_tN6tswRBbLe9
https://dl.doubtnut.com/l/_RzjVPnzLeJAo
https://dl.doubtnut.com/l/_Oc9bJwytbnO8
https://dl.doubtnut.com/l/_Jb62NhKpXMgl
https://dl.doubtnut.com/l/_pFL4YNsRqxd3


Watch Video Solution

183. In a group of 50 people, 35 speak Hindi, 25 speak both English and

Hindi and all the people speak at least one of the two languages. How

many
people speak only English and not Hindi? How many people speak

English?

Watch Video Solution

184. Out of 500 car owners investigated, 400 owned car
A and 200 owned

car B, 50 owned both A and B cars. Is this data correct?

Watch Video Solution

185. A market research group conducted a survey of 2000 consumers and

reported that 1720 consumers liked product 
and 1450 consumers like

product 
 What is the least number that must have liked both the

products?

P1

P2.

https://dl.doubtnut.com/l/_pFL4YNsRqxd3
https://dl.doubtnut.com/l/_OMeoc1EsxUrV
https://dl.doubtnut.com/l/_DwCwsuWxbUVt
https://dl.doubtnut.com/l/_7dkP3YPfcBdl


Watch Video Solution

186. A survey shows that 63% of the Americans like cheese 4 whereas 76%

like apples. If x% of the Americans likes both cheese and apples, find the

value of x.

Watch Video Solution

(39 ≤ x ≤ 63)

187. A college warded 38 medals in football, 15 in
 basketball and 20 in

cricket. If these medals went to a total of 58 men and
only three men got

medals in all the three sports, how many received medals
 in exactly two

of the three sports?

Watch Video Solution

188. If A and B are two sets such that

W t h Vid S l ti

n(A ∪ B) = 50,  n(A) = 20 and n(B) = 32,  find n(A ∩ B).

https://dl.doubtnut.com/l/_7dkP3YPfcBdl
https://dl.doubtnut.com/l/_036CXkZY0Jqk
https://dl.doubtnut.com/l/_9q4az0BszbbR
https://dl.doubtnut.com/l/_jx1NaQtsr5gZ


Watch Video Solution

189. If X and Y are two sets such
 that X has 40 elements, 
 has 60

elements and 
has 10 elements, how many elements does Y
have?

Watch Video Solution

X ∪ Y

X ∩ Y

190. In
a school there are 20 teachers who teach mathematics or physics.

Of these, 12
 teach mathematics and 4 teach both physics and

mathematics. How many teach
physics?

Watch Video Solution

191. In a group of 70 people, 37
 like coffee, 52 like tea and each person

likes at least one of the two
drinks. How many people like both coffee and

tea?

Watch Video Solution

https://dl.doubtnut.com/l/_jx1NaQtsr5gZ
https://dl.doubtnut.com/l/_zvdoJQukhR35
https://dl.doubtnut.com/l/_9VhGO6B29qmg
https://dl.doubtnut.com/l/_dDqHhdig3on6
https://dl.doubtnut.com/l/_dEYNNgVRyEb8


192. Let A and B be two sets such tat


Find 

Watch Video Solution

: n(A) = 20,  n(A ∪ B) = 42 and n(A ∩ B) = 4. n(B)

193. Let A and B be two sets such tat


Find 

Watch Video Solution

: n(A) = 20,  n(A ∪ B) = 42 and n(A ∩ B) = 4. n(A − B)

194. Let A and B be two sets such tat


Find 

Watch Video Solution

: n(A) = 20,  n(A ∪ B) = 42 and n(A ∩ B) = 4. n(B − A)

195. A survey shows that 76% of the Indians like oranges, whereas 62%like

bananas. What percentage of the Indians like both oranges and bananas?

https://dl.doubtnut.com/l/_dEYNNgVRyEb8
https://dl.doubtnut.com/l/_HzA9h6XbSMlD
https://dl.doubtnut.com/l/_sjkcWueM9dUM
https://dl.doubtnut.com/l/_IYHbtyQmns0v


Watch Video Solution

196. In a group of 950 persons, 750 can speak Hindi and 460 can speak

English. Find: How many can speak both Hindi and English.
How many can

speak English only.
How many can speak Hindi only

Watch Video Solution

197. In a group of 1000 people all of whom speak atleast one of Bengali or

Hindi language, there are 750 who can speak Hindi and 400 who can

speak Bengali. If number of people who can speak Bengali only is B and

the people who can speak both Hindi and Bengali is C, then.

Watch Video Solution

198. In a survey of 100 persons it was sound that 28 read magazine A, 30

readmagazine B, 42 read magazine C, 8 read magazines A & B, 10 read

https://dl.doubtnut.com/l/_IYHbtyQmns0v
https://dl.doubtnut.com/l/_Q39h058xuewV
https://dl.doubtnut.com/l/_TywzIqPcjxiI
https://dl.doubtnut.com/l/_Q0M9EBzMpYiR


magazine A & C and 5 read magazine B&C and 3 read all the three. Find

how many read none of three magazines?

Watch Video Solution

199. In a group of 50 persons, 14 drink tea but not coffee and 30 drink tea.

Find:
 How many persons drink tea and coffee both
 How many persons

drink coffee but not tea.

Watch Video Solution

200. In a survey of 100 students, how many of students studying the

various languages were found to study: English only 18, English but not

Hindi 23, English and Sanskrit 8, English 26, Sanskrit 48, Sanskrit and Hindi

8, no language 24 Find:(i) how many students were studying Hindi (ii) how

many students were studying English and Hindi

Watch Video Solution

https://dl.doubtnut.com/l/_Q0M9EBzMpYiR
https://dl.doubtnut.com/l/_GjckpJUhwV0b
https://dl.doubtnut.com/l/_A8t2GQaqjapr
https://dl.doubtnut.com/l/_Q1rFE8Qsi3Il


201. Write the number of elements in the power set of null set.

Watch Video Solution

202. Let 
is a multiple of 3 
and 

is a multiple of 5 
. Write 

Watch Video Solution

A = {x; x ∈ N,  x } B = {x : x ∈ N and x

} A ∩ B

203. If A and B two sets containing 3 and 6 elements respectively and if

minimum no. elements and max no. of elements in  is p, q

respectively then p+q is

Watch Video Solution

A ∪ B

204. If 
 , then write 

Watch Video Solution

A = {x ∈ C : x2 = 1} and B = {x ∈ C : x4 = 1}

A − B and B − A.

https://dl.doubtnut.com/l/_Q1rFE8Qsi3Il
https://dl.doubtnut.com/l/_GFmlwm847cem
https://dl.doubtnut.com/l/_4brSxc0bX0nH
https://dl.doubtnut.com/l/_oodFpMnoSeup


Watch Video Solution

205. Let A and B be two sets having 4 and 7 elements respectively. Then

write the maximum number f elements that 
can have:

Watch Video Solution

A ∪ B

206. If

, then write 

Watch Video Solution

A = {(x,  y) : y = ,  0 ≠ x ∈ R}and B = {(x, y) : y = − x,  x ∈ R}
1

x

A ∩ B.

207. If


 ,

then write 

Watch Video Solution

A = {(x,  y) : y = ex,  x ∈ R}and B = {(x, y) : y = e−x,  x ∈ R}

A ∩ B.

https://dl.doubtnut.com/l/_oodFpMnoSeup
https://dl.doubtnut.com/l/_37ZL7c6D0APz
https://dl.doubtnut.com/l/_Jyru7jL5COBs
https://dl.doubtnut.com/l/_byibMxA7pVaF
https://dl.doubtnut.com/l/_6Weh1Ez6AkQH


208. If A and B are two sets such that


then write 

Watch Video Solution

n(A) = 20,  n(B) = 24 and n(A ∪ B) = 40, n(A ∩ B).

209. If A and B are two sets such that


, then write 

Watch Video Solution

n(A) = 115,  n(B) = 326,  n(A − B) = 47 n(A ∪ B).

210. For any set 
is equal to
a. 
b. 
c. 
d. none of these

Watch Video Solution

A, (A' )' A' A φ

211. Let A and B be two sets in the same universal set. Then, 


b. 
c. 
d. none of these

Watch Video Solution

A − B =

A  ∩ B A' ∩ B A ∩ B'

https://dl.doubtnut.com/l/_6Weh1Ez6AkQH
https://dl.doubtnut.com/l/_vrs7TKBTKpME
https://dl.doubtnut.com/l/_hC7zB0k9vnxj
https://dl.doubtnut.com/l/_ZgCTMMYKh3Ey


212. The number of all possible subsets of a set containing  elements ?

Watch Video Solution

n

213. For any two sets A and B 
a. 
 b. 
 c. 
 d. none of

these

Watch Video Solution

A ∩ (A ∪ B) = B A φ

214. If 
 , then
 
 b. 
 c. 


d. none of these

Watch Video Solution

A = {1, 3, 5, B}and B = {2, 4} 4 ∈ A {4} ⊂ A

B ⊂ A

215. The symmetric difference of A and B is equal to

Watch Video Solution

https://dl.doubtnut.com/l/_ZgCTMMYKh3Ey
https://dl.doubtnut.com/l/_hv3K2JIPdlaN
https://dl.doubtnut.com/l/_7Cza85jw9dtU
https://dl.doubtnut.com/l/_SS9sjfZ2yqVt
https://dl.doubtnut.com/l/_7tEHN8qrEoTh


216. The symmetric difference of 
 is a.


b. 
c. 
d. 

Watch Video Solution

A = {1, 2, 3}and B = {3, 4, 5}

{1, 2} {1, 2, 4, 5} {4, 3} {2, 5, 1, 4, 3}

217. For any two sets A and B, 
 a.

b. 
c. 
d. 

Watch Video Solution

(A − B) ∪ (B − A) = ? (A − B) ∪ A

(B − A) ∪ B (A ∪ B) − (A ∩ B) (A ∪ B) ∩ (A ∩ B)

218. Which of the following statement is false:
 
 b. 


c. 
d.

Watch Video Solution

A − B = A ∩ B

A − B = A − (A ∩ B) A − B = (A ∪ B) − B A − B = A − B'

219. For any three sets A, B, and C


Watch Video Solution

A ∩ (B − C) = (A ∩ B) − (A ∩ C)

https://dl.doubtnut.com/l/_ion5qwSvlxuD
https://dl.doubtnut.com/l/_n6WROg0toFgC
https://dl.doubtnut.com/l/_WePjz7SPOtFq
https://dl.doubtnut.com/l/_ClhsGrSa0DVI


220. Choose the correct answer: 1. If A, B and C are three sets and U is the

universal 6 set such that n(U) = 700, n(A) = 200, n(B) = 300 and n(A n B) =

100. Find n(A' n B')

Watch Video Solution

221. Let  and 
 . Then 


(a) 
(b) 
(c) 
(d) 

Watch Video Solution

A = {x : x ∈ R,  x > 4}  B = {x ∈ R : x < 5}

A ∩ B = (4, 5] (4, 5) [4, 5) [4, 5]

222. Let A and B be two sets such that


Then 
 is equal to 

b. 
c. 
d. none of these

Watch Video Solution

n(A) = 16,  n(B) = 14, n(A ∪ B) = 25. n(A ∩ B) 30

50 5

https://dl.doubtnut.com/l/_ClhsGrSa0DVI
https://dl.doubtnut.com/l/_EuzCbK2wcnhG
https://dl.doubtnut.com/l/_Bcjo0qpMgmB1
https://dl.doubtnut.com/l/_bhnOREUFfjt6
https://dl.doubtnut.com/l/_Y8TvlbWEFe0p


223. In set builder method the null set is represented by

A. A. 

B. B. 

C. C. 

D. D. 

Answer: null

Watch Video Solution

{}

φ

{x : x ≠ x}

{x : x = x}

224. If A and B are two disjoint sets, then 
 is equal to
 a.


b. 
c. 
d.

Watch Video Solution

n(AuB)

n(A) + n(B) n(A) + n(B) − n(AnB) n(A) + n(B) + n(AnB)

n(A)n(B)

225. For two sets  and ; 
is equal to:A B A ∪ B

https://dl.doubtnut.com/l/_Y8TvlbWEFe0p
https://dl.doubtnut.com/l/_lAXi6RmByisF
https://dl.doubtnut.com/l/_d6U8YRTyppxy


A. (A) 

B. (B) 

C. (C) 

D. (D) 

Answer: null

Watch Video Solution

B ⊆ A

A ⊆ B

A ≠ B

A = B

226. If  and  are two sets such that


is equal to

A. (A) 

B. (B) 

C. (C) 

D. (D) 

Answer: null

A B

n(A) = 70,  n(B) = 60,  n(A ∪ B) = 110,  then n(A ∩ B)

240

50

40

20

https://dl.doubtnut.com/l/_d6U8YRTyppxy
https://dl.doubtnut.com/l/_a75MCns33HQD


Watch Video Solution

227. If  = {x : x is a multiple of 3} and,  ={x : x is a multiple of 5}, then

 is

Watch Video Solution

A B

A − B

228. If 
then
a. 
b. 
c. 
d. 

Watch Video Solution

A ∩ B = B, A ⊆ B B ⊆ A A = φ B = φ

https://dl.doubtnut.com/l/_a75MCns33HQD
https://dl.doubtnut.com/l/_HBRUMKO7DFYE
https://dl.doubtnut.com/l/_fvxqAf1x9NdE

